JOURNAL OF THE CHUNGCHEONG MATHEMATICAL SOCIETY Volume 25, No. 3, August 2012

# THE FORMAL LINEARIZATION METHOD TO MULTISOLITON SOLUTIONS FOR THREE MODEL EQUATIONS OF SHALLOW WATER WAVES

## N. TAGHIZADEH\*, M. MIRZAZADEH\*\*, AND A. SAMIEI PAGHALEH\*\*\*

ABSTRACT. In this paper, the formal linearization method is used to construct multisoliton solutions for three model of shallow water waves equations. The three models are completely integrable. The formal linearization method is an efficient method for obtaining exact multisoliton solutions of nonlinear partial differential equations. The method can be applied to nonintegrable equations as well as to integrable ones.

### 1. Introduction

Wazwaz [1] applied the Hirota's bilinear method for obtaining multisoliton solutions of three model of shallow water waves equations in following forms:

The first shallow water waves equation

(1.1) 
$$u_{xxt} + 3uu_t + 3u_x \int^x u_t \, dx - u_x - u_t = 0.$$

The second shallow water waves equation

(1.2) 
$$u_{xxt} + 3uu_t + 3u_x \int^x u_t \, dx - u_{xxx} - 6uu_x - u_t = 0.$$

The third shallow water waves equation

(1.3) 
$$u_{xxt} + 3uu_t + 3u_x \int^x u_t \, dx - u_x - u_{xxx} - 6uu_x - u_t = 0,$$

Received January 12, 2011; Accepted January 20, 2012.

2010 Mathematics Subject Classification: Primary 47F05, 35Q55, 35G25.

Key words and phrases: formal linearization method, multisoliton solutions, shallow water waves equations.

Correspondence should be addressed to M. Mirzazadeh, mirzazadehs2@guilan. ac.ir.

where u = u(t, x). The aim of this paper is to find new multisoliton solutions of three model of shallow water waves equations by using the formal linearization method [2,3].

#### 2. Formal linearization method

Let us consider equations of the following form

(2.1) 
$$\hat{L}(D_t, D_x)u(t, x) = N[u],$$

where

382

(2.2) 
$$\hat{L}(D_t, D_x) = \sum_{k=0}^{K} \sum_{m=0}^{M} l_{km} D_t^k D_x^m$$

is a linear differential operator with constant coefficients and

$$N[u] = N(u, u_1, u_2, \dots, u_p), \ u_p = \frac{\partial^{p_1 + p_2} u}{\partial t^{p_1} \partial x^{p_2}}, \ p = (p_1, p_2)$$

is an arbitrary analytic function of u and of its derivatives up to some finite order p. We suppose that Eq.(4) possesses the constant solution. Without loss of generality we assume that

$$N[0] = 0, \ \frac{\partial N[0]}{\partial u} = 0, \ \frac{\partial N[0]}{\partial u_1} = 0, \dots, \ \frac{\partial N[0]}{\partial u_p} = 0.$$

We consider Eq.(4) in connection with the equation linearized near a zero solution:

(2.3) 
$$L(D_t, D_x)w(t, x) = 0$$

Let L be the vector space of solutions of Eq.(6) and  $P^N \subset L$  be the N-dimensional subspace with the basis

$$w_i = W_i exp(\alpha_i \xi_i), \ \xi_i = x - s_i t, \ i = 1, .., N_i$$

Here  $s_i$  and  $W_i$  are some constants. The constants  $\alpha_i = \alpha_i(s_i)$  are assumed to satisfy the dispersion relation

$$\hat{L}(-\alpha_i s_i, \alpha_i) = 0.$$

The subspace  $P^N = \{\sum_{i=1}^N C_i w_i | C_i = const\}$  is specified by the system of N linear ordinary differential equations

$$\frac{dw_i}{d\xi_i} = \alpha_i w_i, \ i = 1, .., N.$$

We use the following notation:

$$w_{(N)}^{\delta} = w_1^{\delta_1} w_2^{\delta_2} \dots w_N^{\delta_N}$$

$$\delta = (\delta_1, \delta_2, \dots, \delta_N)$$
$$|\delta| = \sum_{i=1}^N \delta_i.$$

It is obvious that the monomials  $w_{(N)}^{\delta}$  are the eigenfunctions of the operator (5):

$$\hat{L}(D_t, D_x)w_{(N)}^{\delta} = \lambda_{\delta} w_{(N)}^{\delta}$$

with the eigenvalues

$$\lambda_{\delta} = \sum_{k=0}^{K} \sum_{m=0}^{M} l_{km} (-\sum_{i=1}^{N} \alpha_i s_i \delta_i)^k (\sum_{i=1}^{N} \alpha_i \delta_i)^m.$$

THEOREM 2.1. If  $\lambda_{\delta} \neq 0$  for every multiindex  $\delta$  with positive integer components  $\delta_i \in \mathbb{Z}_+, i = 1, ..., N$ , satisfying the condition  $|\delta| \neq 0, 1$ , then Eq.(4) possesses solutions connected with solutions form  $P^N$  by the formal transformation

(2.4) 
$$u = \sum_{n=1}^{\infty} \varepsilon^n \phi_n(w_1, w_2, \dots, w_N),$$

where

(2.5) 
$$\phi_n = \sum_{|\delta|=n} (A_n)_{\delta} w^{\delta}_{(N)}$$

are homogeneous polynomials of degree n in the variables  $w_i$ . This transformation is unique (for the first term  $\phi_1 \in P^N$  fixed).

REMARK 2.2. Here  $\varepsilon$  is the grading parameter , finally we can put  $\varepsilon = 1$ .

The proof of the theorem is constructive. Substituting (7) into (4), expanding N[u] into the power series in  $\varepsilon$ , and then collecting equal powers of  $\varepsilon$ , we obtain the determining equations for the functions  $\phi_n$ and show that if  $\lambda_{\delta} \neq 0$ , then these equations possess the solution (8) with the coefficients  $(A_n)_{\delta}$  uniquely determined through the coefficients  $(A_1)_{\delta}$  by the recursion relation. Thus, the theorem gives us the method for constructing particular solutions of Eq.(4).

### 384 N. Taghizadeh, M. Mirzazadeh, and A. Samiei Paghaleh

### 3. The first model equation for shallow water waves

In this section, we apply the formal linearization to the first shallow water waves equation:

(3.1) 
$$u_{xxt} + 3uu_t + 3u_x \int^x u_t \, dx - u_x - u_t = 0.$$

Using the potential

$$(3.2) u = v_x,$$

Eq.(9) becomes

$$(3.3) v_{xxxt} + 3v_xv_{xt} + 3v_{xx}v_t - v_{xx} - v_{xt} = 0$$

Integrating (11) with respect to x and neglecting the constant of integration we obtain

(3.4) 
$$v_{xxt} + 3v_xv_t - v_x - v_t = 0.$$

Thus, Eq.(12) can write in the form

(3.5) 
$$\hat{L}(D_t, D_x)v(t, x) = -3v_x v_t, \hat{L}(D_t, D_x) = D_x^2 D_t - D_x - D_t.$$

For simplicity we look for a solution of Eq.(13) in the form

(3.6) 
$$v(t,x) = \sum_{n=1}^{\infty} \varepsilon^n \phi_n(w_1, w_2),$$

where

$$w_i = W_i exp[\sqrt{\frac{s_i - 1}{s_i}}(x - s_i t)], \ i = 1, 2,$$

is the basis of the subspace  $P^2 \subset L(\text{let } s_i \text{ and } W_i \text{ be some real constants})$ . Substituting (14) into Eq.(13) and collecting equal powers of  $\varepsilon$  we obtain the determining equations for the functions  $\phi_n$  as follows

$$\hat{L}\phi_1 = 0,$$

(3.7) 
$$\hat{L}\phi_n = -3\sum_{k=1}^{n-1} D_x \phi_k D_t \phi_{n-k}, \ n \ge 2.$$

These equations possess the solution  $\phi_n = \sum_{|\delta|=n} (A_n)_{\delta} w_{(2)}^{\delta}$ ,  $\delta = (\delta_1, \delta_2)$ , which can be rewritten in this case in the following form

(3.8) 
$$\phi_n = \sum_{k=0}^n A_k^n w_1^k w_2^{n-k} \ (\phi_1 \in P^2),$$

the coefficients  $A_k^n$  can be found through  $A_0^1$  and  $A_1^1$  (we can assume that either  $A_0^1 = A_1^1 = 1$  or  $A_0^1 = 0, A_1^1 = 1$ )by the recursion relation: If  $n \ge 2, \ 0 \le k \le n$  then

$$\begin{aligned} A_k^n &= \frac{3}{\lambda_{(k,n-k)}} \sum_{l=1}^{n-1} \sum_{m=0}^{n-l} \left[ \sqrt{\frac{s_1-1}{s_1}} (k-m) + \sqrt{\frac{s_2-1}{s_2}} (l-k+m) \right] \\ & \left[ s_1 \sqrt{\frac{s_1-1}{s_1}} \ m + s_2 \sqrt{\frac{s_2-1}{s_2}} (n-l-m) \right] A_{k-m}^l A_m^{n-l}, \end{aligned}$$

 $\text{ if }k<0 \text{ or }k>n \text{ then }A_k^n=0,\\$ 

$$\begin{aligned} \lambda_{(k,n-k)} &= (s_1 - 1)\sqrt{\frac{s_1 - 1}{s_1}}k(1 - k^2) \\ &+ (s_2 - 1)\sqrt{\frac{s_2 - 1}{s_2}}(n - k)(1 - (n - k)^2) \\ &- \frac{(s_1 - 1)(s_2 + 2s_1)}{s_1}\sqrt{\frac{s_2 - 1}{s_2}}k^2(n - k) \\ &- \frac{(s_2 - 1)(s_1 + 2s_2)}{s_2}\sqrt{\frac{s_1 - 1}{s_1}}k(n - k)^2. \end{aligned}$$

If  $s_1 < 0$ ,  $s_1 > 1$  and  $s_2 < 0$ ,  $s_2 > 1$ , then  $\lambda_{(k,n-k)} \neq 0$  for every pair (k, n-k) with  $k, n \in \mathbb{Z}_+, n \ge 2, 0 \le k \le n$ .

Thus, By (10), (14) we obtain a 2-soliton solution of the first shallow water waves equation in the form:

$$u(t,x) = \sum_{n=1}^{\infty} \sum_{k=0}^{n} \left(\sqrt{\frac{s_1 - 1}{s_1}}k + \sqrt{\frac{s_2 - 1}{s_2}}(n - k)\right) A_k^n w_1^k w_2^{n - k}.$$

REMARK 3.1. If  $A_0^1 = 0$ , then  $\phi_1 \in P^1$  and we get form (14) the expansion for a 1-soliton solution. For obtaining the N-soliton solution, we must take  $\phi_1 \in P^N$ .

If  $A_0^1 = 0$ , then by (14) we obtain

(3.9)  
$$v = \sum_{n=1}^{\infty} (-\frac{1}{2})^{n-1} (\sqrt{\frac{s_1 - 1}{s_1}})^{n-1} (\varepsilon w_1)^n$$
$$= \frac{\varepsilon w_1}{1 + \frac{1}{2}\sqrt{\frac{s_1}{s_1 - 1}}} \varepsilon w_1 = \sqrt{\frac{s_1 - 1}{s_1}} \frac{2w}{1 + w},$$

N. Taghizadeh, M. Mirzazadeh, and A. Samiei Paghaleh

where  $w = \frac{\varepsilon}{2} \sqrt{\frac{s_1}{s_1 - 1}} w_1$ . In (t, x)-variables we have:

$$v(t,x) = \sqrt{\frac{s_1 - 1}{s_1}} (1 + tanh[\frac{1}{2}\sqrt{\frac{s_1 - 1}{s_1}}(x - s_1t)]),$$

where we assumed  $W_1 = \frac{2}{\varepsilon} \sqrt{\frac{s_1-1}{s_1}}$ .

Therefore, By (10) we obtain exact soliton solution of the first shallow water waves equation in the form

$$u(t,x) = \frac{s-1}{2s} sech^2 [\frac{1}{2}\sqrt{\frac{s-1}{s}(x-st)}].$$

#### 4. The second model equation for shallow water waves

In this section, we apply the formal linearization to the second shallow water waves equation:

(4.1) 
$$u_{xxt} + 3uu_t + 3u_x \int^x u_t \, dx - u_{xxx} - 6uu_x - u_t = 0.$$

Using of (10), Eq.(18) becomes

$$(4.2) v_{xxxt} + 3v_xv_{xt} + 3v_{xx}v_t - v_{xxxx} - 6v_xv_{xx} - v_{xt} = 0$$

Integrating (19) with respect to x and neglecting the constant of integration we obtain

(4.3) 
$$v_{xxt} + 3v_xv_t - v_{xxx} - 3(v_x)^2 - v_t = 0.$$

Thus, Eq.(20) can write in the form

(4.4) 
$$\hat{L}(D_t, D_x)v(t, x) = 3(v_x)^2 - 3v_x v_t,$$
$$\hat{L}(D_t, D_x) = D_x^2 D_t - D_x^3 - D_t.$$

The equation linearized near a zero solution has the form  $\hat{L}w = 0$ , and the space of its solutions contains the subspace  $P^2$  with the basis

$$w_i = W_i exp[\sqrt{\frac{s_i}{s_i+1}}(x-s_i t)], \ i = 1, 2$$

We look for solutions of (21) in the form (14) and obtain the determining equation as follows:

$$\hat{L}\phi_1 = 0,$$

(4.5) 
$$\hat{L}\phi_n = 3(\sum_{k=1}^{n-1} D_x \phi_k D_x \phi_{n-k} - \sum_{k=1}^{n-1} D_x \phi_k D_t \phi_{n-k}), \ n \ge 2.$$

These equations possess the solution

(4.6) 
$$\phi_n = \sum_{k=0}^n A_k^n w_1^k w_2^{n-k} \ (\phi_1 \in P^2),$$

the coefficients  $A_k^n$  can be found through  $A_0^1$  and  $A_1^1$  (we can assume that either  $A_0^1 = A_1^1 = 1$  or  $A_0^1 = 0, A_1^1 = 1$ ) by the recursion relation: If  $n \ge 2, \ 0 \le k \le n$  then

$$\begin{split} A_k^n &= \frac{3}{\lambda_{(k,n-k)}} \{ \sum_{l=1}^{n-l} \sum_{m=0}^{n-l} \left[ \sqrt{\frac{s_1}{s_1+1}} (k-m) + \sqrt{\frac{s_2}{s_2+1}} (l-k+m) \right] \\ & \left[ \sqrt{\frac{s_1}{s_1+1}} \ m + \sqrt{\frac{s_2}{s_2+1}} (n-l-m) \right] A_{k-m}^l A_m^{n-l} \\ & + \sum_{l=1}^{n-1} \sum_{m=0}^{n-l} \left[ \sqrt{\frac{s_1}{s_1+1}} (k-m) + \sqrt{\frac{s_2}{s_2+1}} (l-k+m) \right] \\ & \left[ s_1 \sqrt{\frac{s_1}{s_1+1}} \ m + s_2 \sqrt{\frac{s_2}{s_2+1}} (n-l-m) \right] A_{k-m}^l A_m^{n-l} \}, \end{split}$$

 $\text{ if } k < 0 \text{ or } k > n \text{ then } A_k^n = 0, \\$ 

$$\begin{split} \lambda_{(k,n-k)} &= s_1 \sqrt{\frac{s_1}{s_1+1}} k(1-k^2) \\ &+ s_2 \sqrt{\frac{s_2}{s_2+1}} (n-k)(1-(n-k)^2) \\ &- \frac{2s_1^2 + s_1 s_2 + 3s_1}{s_1+1} \sqrt{\frac{s_2}{s_2+1}} k^2 (n-k) \\ &- \frac{2s_2^2 + s_1 s_2 + 3s_2}{s_2+1} \sqrt{\frac{s_1}{s_1+1}} k(n-k)^2. \end{split}$$

If  $s_1 < -1$ ,  $s_1 > 0$  and  $s_2 < -1$ ,  $s_2 > 0$ , then  $\lambda_{(k,n-k)} \neq 0$  for every pair (k, n-k) with  $k, n \in \mathbb{Z}_+, n \ge 2, 0 \le k \le n$ .

Thus, we obtain a 2-soliton solution of the second shallow water waves equation in the form:

$$u(t,x) = \sum_{n=1}^{\infty} \sum_{k=0}^{n} \left(\sqrt{\frac{s_1}{s_1+1}}k + \sqrt{\frac{s_2}{s_2+1}}(n-k)\right) A_k^n w_1^k w_2^{n-k}.$$

If  $A_0^1 = 0$ , then by (14) we obtain

(4.7)  
$$v = \sum_{n=1}^{\infty} (-\frac{1}{2})^{n-1} (\sqrt{\frac{s_1+1}{s_1}})^{n-1} (\varepsilon w_1)^n = \frac{\varepsilon w_1}{1 + \frac{1}{2}\sqrt{\frac{s_1+1}{s_1}}} \varepsilon w_1$$
$$= \sqrt{\frac{s_1}{s_1+1}} \frac{2w}{1+w},$$

where  $w = \frac{\varepsilon}{2} \sqrt{\frac{s_1+1}{s_1}} w_1$ . In (t, x)-variables we have:

$$v(t,x) = \sqrt{\frac{s_1}{s_1+1}} (1 + tanh[\frac{1}{2}\sqrt{\frac{s_1}{s_1+1}}(x - s_1t)]),$$

where we assumed  $W_1 = \frac{2}{\varepsilon} \sqrt{\frac{s_1}{s_1+1}}$ . Therefore, By (10) we obtain exact

Therefore, By (10) we obtain exact soliton solution of the second shallow water waves equation in the form

$$u(t,x) = \frac{s}{2(s+1)} sech^{2} \left[\frac{1}{2}\sqrt{\frac{s}{s+1}(x-st)}\right].$$

### 5. The third model equation for shallow water waves

We finally apply the formal linearization to the third shallow water waves equation:

(5.1) 
$$u_{xxt} + 3uu_t + 3u_x \int^x u_t \, dx - u_x - u_{xxx} - 6uu_x - u_t = 0,$$

Using of (10), Eq.(25) becomes

(5.2) 
$$v_{xxxt} + 3v_xv_{xt} + 3v_{xx}v_t - v_{xx} - v_{xxxx} - 6v_xv_{xx} - v_{xt} = 0.$$

Integrating (26) with respect to x and neglecting the constant of integration we obtain

(5.3) 
$$v_{xxt} + 3v_xv_t - v_x - v_{xxx} - 3(v_x)^2 - v_t = 0.$$

Thus, Eq.(27) can write in the form

(5.4) 
$$\hat{L}(D_t, D_x)v(t, x) = 3(v_x)^2 - 3v_x v_t,$$

$$L(D_t, D_x) = D_x^2 D_t - D_x - D_x^3 - D_t.$$

In this case, the subspace  $P^2$  is generated by the functions

$$w_i = W_i exp[\sqrt{\frac{s_i - 1}{s_i + 1}}(x - s_i t)], \ i = 1, 2.$$

389

Our procedure gives

(5.5) 
$$v(t,x) = \sum_{n=1}^{\infty} \varepsilon^n \sum_{k=0}^n A_k^n w_1^k w_2^{n-k},$$

$$\begin{split} A_k^n &= \frac{3}{\lambda_{(k,n-k)}} \{ \sum_{l=1}^{n-l} \sum_{m=0}^{n-l} \left[ \sqrt{\frac{s_1-1}{s_1+1}} (k-m) + \sqrt{\frac{s_2-1}{s_2+1}} (l-k+m) \right] \\ & \left[ \sqrt{\frac{s_1-1}{s_1+1}} \ m + \sqrt{\frac{s_2-1}{s_2+1}} (n-l-m) \right] A_{k-m}^l A_m^{n-l} \\ & + \sum_{l=1}^{n-1} \sum_{m=0}^{n-l} \left[ \sqrt{\frac{s_1-1}{s_1+1}} (k-m) + \sqrt{\frac{s_2-1}{s_2+1}} (l-k+m) \right] \\ & \left[ s_1 \sqrt{\frac{s_1-1}{s_1+1}} \ m + s_2 \sqrt{\frac{s_2-1}{s_2+1}} (n-l-m) \right] A_{k-m}^l A_m^{n-l} \}, \end{split}$$

 $n \ge 2, \ 0 \le k \le n;$  if k < 0 or k > n then  $A_k^n = 0;$ 

$$\begin{aligned} \lambda_{(k,n-k)} &= (s_1 - 1)\sqrt{\frac{s_1 - 1}{s_1 + 1}}k(1 - k^2) \\ &+ (s_2 - 1)\sqrt{\frac{s_2 - 1}{s_2 + 1}}(n - k)(1 - (n - k)^2) \\ &- \frac{(s_1 - 1)(2s_1 + s_2 + 3)}{s_1 + 1}\sqrt{\frac{s_2 - 1}{s_2 + 1}}k^2(n - k) \\ &- \frac{(s_2 - 1)(s_1 + 2s_2 + 3)}{s_2 + 1}\sqrt{\frac{s_1 - 1}{s_1 + 1}}k(n - k)^2 \end{aligned}$$

Here either  $A_0^1 = A_1^1 = 1$  or  $A_0^1 = 0, A_1^1 = 1$ . If  $s_1 < -1, s_1 > 1$ and  $s_2 < -1, s_2 > 1$ , then  $\lambda_{(k,n-k)} \neq 0$  for every pair (k, n-k) with  $k, n \in \mathbb{Z}_+, n \ge 2, 0 \le k \le n$ .

Thus, we obtain a 2-soliton solution of the third shallow water waves equation in the form:

$$u(t,x) = \sum_{n=1}^{\infty} \sum_{k=0}^{n} \left(\sqrt{\frac{s_1 - 1}{s_1 + 1}}k + \sqrt{\frac{s_2 - 1}{s_2 + 1}}(n - k)\right) A_k^n w_1^k w_2^{n - k}.$$

If  $A_0^1 = 0$ , then by (29) we obtain

N. Taghizadeh, M. Mirzazadeh, and A. Samiei Paghaleh

(5.6)  
$$v = \sum_{n=1}^{\infty} (-\frac{1}{2})^{n-1} (\sqrt{\frac{s_1+1}{s_1-1}})^{n-1} (\varepsilon w_1)^n = \frac{\varepsilon w_1}{1 + \frac{1}{2} \sqrt{\frac{s_1+1}{s_1-1}} \varepsilon w_1}$$
$$= \sqrt{\frac{s_1-1}{s_1+1}} \frac{2w}{1+w},$$

where  $w = \frac{\varepsilon}{2} \sqrt{\frac{s_1+1}{s_1-1}} w_1$ . In (t, x)-variables we have:

$$v(t,x) = \sqrt{\frac{s_1 - 1}{s_1 + 1}} (1 + tanh[\frac{1}{2}\sqrt{\frac{s_1 - 1}{s_1 + 1}}(x - s_1t)]),$$

where we assumed  $W_1 = \frac{2}{\varepsilon} \sqrt{\frac{s_1-1}{s_1+1}}$ .

Therefore, By (10) we obtain exact soliton solution of the third shallow water waves equation in the form

$$u(t,x) = \frac{s-1}{2(s+1)} sech^2 \left[\frac{1}{2}\sqrt{\frac{s-1}{s+1}(x-st)}\right].$$

#### References

- A. M. Wazwaz, The Hirota's direct method for multiple-soliton solutions for three model equations of shallow water waves, Appl. Math. Comput. 201 (2008), 489-503.
- [2] N. Taghizadeh, M. Mirzazadeh, The exact solution of Klein-Gordon's equation by formal linearization method, Honam Mathematical Journal 30 (2008), no. 4, 631-635.
- [3] N. Taghizadeh, The multisoliton solution of generalized Burger's equation by the formal linearization method, Communications of the Korean Mathematical Society 26 (2011), no. 2, 207-214

391

\*

Department of Mathematics University of Guilan P.O.Box 1914, Rasht, Iran *E-mail*: taghizadeh@guilan.ac.ir

\*\*

Department of Mathematics University of Guilan P.O.Box 1914, Rasht, Iran *E-mail*: mirzazadehs2@guilan.ac.ir

\*\*\*

Department of Mathematics University of Guilan P.O.Box 1914, Rasht, Iran *E-mail*: ameneh.samiei@gmail.com